Use the given infomation to find the measure

of all the angles 6 that meet each condition.
0 in degrees (0° < 6 < 360°)
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1. Cos 0 = T‘/— 7D
Cos is an x-coordinate, which are
negative in the 2nd and 3rd Quadrants.
6 = 150° and 210°
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2.s1n0 = J2
\
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\ Sin is a y-coordinate, which are positive
; z?,/“"” in the 1st and 2nd Quadrants.
0 = 45° and 135°
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Use the given infomation to find the measure
of all the angles 6 that meet each condition.
0 in degrees (0° < 6 < 360°)
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Cos is an x-coordinate, which are
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4. sinf = —
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positive in the 1st and 4th Quadrants. (1. O 150°

0 = 0° and 360°
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Sin is a y-coordinate, which are negative
in the 3rd and 4th Quadrants.

a4k
6 = 240° and 300°




Use the given infomation to

of all the angles 6 that meet
0 in degrees (0° < 6 < 360°)

5. sinf =

Cos is a y-coordinate, and y is 0
when on the x-axis.

6 = 0°, 180° and 210°

Use the given infomation to find the measure
of all the angles 6 that meet each condition.
0 in degrees (0° < 6 < 360°)

7. tanf = J3 €4
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Use the given infomation to find the measure
of all the angles 6 that meet each condition.

0 in degrees (0° < 6 < 360°)

6. tanf = -1 (-7;%
Tan is the ratio of y/x. This will only
equal -1 if xand y are opposites. ‘_I'O)(x .

6 = 135°and 315°

Use the given infomation to find the measure

of all the angles 6 that meet each condition.
6 in degrees (0° < 6 < 360°)

8. tanf = — ‘/,;
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9.Given Cosd > 0 and S0 = —L find 0 10.Given(00° = 0 = 180°
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You can now finish Hwk 6. Given Sinb = 5 find all possible values of 6 from 0° to 360
N 0.0
2_ coosd = _[5— . H
Practice Sheet: Using the Unit Circle = (ﬁﬁ 3 5
Due Monday, February 26 & = L0 i 120° '
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We are also done with all the material for the 1st Test. /
the test will be the week we return from break. 33 __vfig)




Given Coso — —Y2 find al possible values of 6 from 0° to 360° Solve for 6

Cos(20) = %
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Solve for 6
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